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7.7 Solving Right Triangles )

To Solve a Right Triangle means to FIND ALL sides and angles of the triangle. In this
chapter we have discussed multiple ways to find the sides of g triangle. Can you list them?
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Inverse of multiplication: 3x=12
TRIG INVERSE OPERATIONS:
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are used to find the (Lﬂ%\&s given the ratio of the__ ) des

To find angle measurements from the trig values, use inverse sin (Sin), inverse cos (Cos™),
and inverse tan (Tan™). This means you know the values of the ratios, but you're asking your
calculator for the angle measure. BE SURE YOUR CALCULATOR IS IN DEGREES!
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Use a calculator to approximate the measure of ZA and £C. Round to the nearest degree.




Ln

Solve the right triangle.
to the nearest tenth.

Give exact answers where appropriate.

Round decimal answers
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